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Q1.

a. What is meant by communication channels? 






1
b. Why is a switch called an intelligent hub?







1
c. What is an MAC address?









1
d. Ishika Industries has set up its new production unit and sales office at Ranchi. The company compound has 4 buildings as shown in the diagram below:
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Distances between these buildings are as follows:

Administrative Office to Factory A 

150 m

Factory A to Factory B 



50 m

Factory B to Sales Office 



100m

Sales Office to Administrative office 

200m

Administrative Office to Factory B 

125 m

Number of Computers in each of the buildings is follows:

Administrative Office 



15

Factory A 





25

Factory B 





18

Sales Office 





15

1. Suggest a cable layout of connections between the buildings so that each building is directly connected to Administrative Office.

2. Suggest the most suitable place (i.e. building) to house the server of this production unit with a suitable reason.


3. Suggest the placement of the following devices with justification:



(i) Repeater



(ii) Hub/Switch

4. The Administrative Office of this unit is to be linked with the Head Office situated in Patiala (Punjab). What will be the most economical way to do this? Justify your answer.
e. What is a character encoding system?
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f. What is Ogg Vorbis?










1

Q2.

a. What's wrong with the while statement?
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while( (ctr < 5) && (ctr > 30))

b. What are list type controls available in Java?







1
c. List different selection modes of a list.








1
d. Define the term Polymorphism.
What are the two ways polymorphism is demonstrated in Java?














1
e. Name any four native classes of Java and briefly explain the use of each.


2
f. What is JDBC? What is the importance of JDBC in establishing database connectivity?  
2
g. Explain the term ResultSet with respect to a database.
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Q3.

a. A book publishing house decided to go in for computerization. The database will be maintained at the back end but you have to design the front end for the company. You have to accept Book code, Title, Author and Quantity sold from the user. The price will be generated depending upon the Book code. Net price should be calculated on the basis of the discount given.
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Bookseller
 -


25%

School
 - 


20%



Customer
 - 


5%

b. Design an application called Short Name. The aim of the application is to accept the First Name, Middle Name and the Last Name from the user and display his short name (i.e Last Name followed by his initials). Observe the following form carefully.


[image: image1.emf]
a. On reset button click all textboxes and jtfsname label should be clear


1
b. On get short name button click print short name in the label.
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Q4.

a. Carefully study the code given below. It is giving an error whenever it is compiled:
2
float f = 12.5;

double d = 123.6543;
int num1 = Math.round(f); //Statement 1

float num2 = Math.round(d); //Statement 2

int num3 = Math.round(d); // Statement 3

Identify the statement that will result in an error. Justify.
b. Study the following code and answer the questions that follow:
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String SMS=jTextArea1.getText();

int L=SMS.length(),Balance;

Balance=160-L;

jTextField2.setText(Integer.toString(L));

jTextField3.setText(Integer.toString(Balance));

a. Name any one native class of Java used in the above code.

b. Name the object created of the above mentioned native class.

c. Identify and name two methods of the native class.

d. Name the method used to convert one type of data to another and also mention the data type before and after conversion.
c.  What should be the value of  X, to print EXACTLY up to 20 lines  :
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int count = 0;

while(count++ < X ) {

jTextField1.setText("Line " + count);}
d. Write the output that the following code segment will generate : 
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int i, j, k;

 for(i=1; i<=4; ++i)
{

       for(k=1, j=i ; k<=i;  k++, j+=2)

                          System.out.print(“  “,+j);

                  System.out.println(“  “);

 }
e. Rewrite following while loop into a for loop:






2
int  s=0;

while(s<=13){

if (s%2==2)

 {

     System.out.println(“color code red”);

}

else
{

       System.out.println(“color code blue”);

  

}  System.out.println(“New color code ”);

  

 s=s+1; }
Q5.

a. What are constraints? Are constraints useful or are they hinderance to effective management of databases?
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b. What are the differences between DELETE and DROP commands of SQL?

1

c. Write the purpose of inserting Savepoints in a transaction.
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d. What happens to the current transaction if a DDL Statement is executed?


1

e. How do you tell the system to start and end the transaction?




2
f. What happens when Autocommit is set on?






1
Q6.

a. In a database create the following tables with suitable constraints :
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VEHICLE

+---------+-------------+------+-----+---------+-------+

| Field
| Type 

| Null 
| Key| Default | Extra 

+---------+-------------+------+-----+---------+-------+

| RegNo 
| char(10) 
| NO 
| PRI| 

| 
|

| RegDate | date 

| YES 
| 
| NULL 
| 
|

| Owner 
| varchar(30) 
| YES 
| 
| NULL 
| 
|

| Address | varchar(50) 
| YES 
| 
| NULL 
| 
|

+---------+-------------+------+-----+---------+-------+

CHALLAN
+------------+----------+------+-----+---------+-------+

| Field 

| Type 
| Null 
| Key| Default | Extra 

+------------+----------+------+-----+---------+-------+

| Challan_No 
| int(11) | NO 
| PRI| 0 

| 
|

| Ch_Date

| date 
| YES
| 
| NULL 
| 
|

| RegNo 

| char(10)| YES 
| 
| NULL 
| 
|

| Offence 
| int(3) 
| YES 
| 
| NULL 
| 
|

+------------+----------+------+-----+---------+-------+

OFFENCE
+--------------+-------------+------+-----+---------+-------+

| Field 

| Type 

| Null 
| Key| Default | Extra 
+--------------+-------------+------+-----+---------+-------+

| Offence_Code | int(3) 

| NO 
| PRI| 0 

| 
|

| Off_desc 
| varchar(30) 
| YES 
| 
| NULL 
| 
|

| Challan_Amt 
| int(4) 

| YES 
| 
| NULL 
| 
|

+--------------+-------------+------+-----+---------+-------+

b. Based on these tables write SQL statements for the following queries:
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1. Display the dates of first registration and last registration from the table Vehicle.
2. Display the number of challans issued on each date.
3. Display the total number of challans issued for each offence.
4. Display the total number of vehicles for which the 3rd and 4th characters of RegNo are '6C'.
5. Display the total value of challans issued for which the Off_Desc is 'Driving without License'.
6. Display details of the challans issued on '2010-04-03' along with Off_Desc for each challan.
7. Display the RegNo of all vehicles which have been challaned more than once.
8. Display details of each challan alongwith vehicle details, Off_desc, and Challan_Amt.
9. Identify the Foreign Keys (if any) of these tables. Justify your choices.
c. In a database create the following tables with suitable constraints :

Student

+-------+----------------+-------+------+------+------------------------+------------------+--------------------------
| AdmNo 
| Name 

| Class| Sec | RNo 
| Address 

    | Phone    

|

+-------+----------------+-------+------+------+------------------------+------------------+----------------------------
| 1271 
| Utkarsh Madaan 
| 12 
| C 
| 1 
| C-32, Punjabi Bagh   | 4356154  
|

| 1324 
| Naresh Sharma 
| 10 
| A 
| 1 
| 31, Mohan Nagar 
    | 435654   

|

| 1325
| Md. Yusuf 

| 10 
| A 
| 2 
| 12/21, Chand Nagar  | 145654   

|

| 1328 
| Sumedha 

| 10
| B 
| 23 
| 59, Moti Nagar 
    | 4135654  
|

| 1364 
| Subya Akhtar 
| 11
| B 
| 13 
| 12, Janak Puri 
    | NULL     

|

| 1434 
| Varuna 

| 12 
| B 
| 21 
| 69, Rohini 

    | NULL     

|

| 1461 
| David DSouza 
| 11 
| B 
| 1 
| D-34, Model Town 
    | 243554, 98787665 
| 2324 
| Satinder Singh 
| 12 
| C 
| 1 
| 1/2, Gulmohar Park    | 143654   
|

| 2328 
| Peter Jones 
| 10 
| A 
| 18 
| 21/32B, Varsh Enclave | 24356154 
|

| 2371 
| Mohini Mehta 
| 11 
| C 
| 12 
| 37, Raja Garden       | 435654, 6765787 |

+-------+----------------+-------+------+------+------------------------+------------------+-------------------------
Sports

+-------+-------------+-------------+-------+------------------------------
| AdmNo | Game 
| CoachName 
| Grade 
|

+-------+-------------+-------------+-------+------------------------------
| 1324 | Cricket 

| Narendra 

| A 

|

| 1364 | Volley ball 
| M.P. Singh 

| A 

|

| 1271 | Volley ball 
| M.P. Singh 

| B 

|

| 1434 | Basket Ball
| I. Malhotra 

| B 

|

| 1461 | Cricket 

| Narendra 

| B 

|

| 2328 | Basket Ball
| I. Malhotra 

| A 

|

| 2371 | Basket Ball
| I. Malhotra 

| A 

|

| 1271 | Basket Ball
| I. Malhotra 

| A 

|

| 1434 | Cricket 

| Narendra 

| A 

|

| 2328 | Cricket 

| Narendra 

| B 

|

| 1364 | Basket Ball
| I. Malhotra 

| B 

|

+-------+-------------+-------------+-------+------------------------------
Based on these tables write SQL statements for the following queries:
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1. Display the lowest and the highest classes from the table STUDENTS.
2. Display the number of students in each class from the table STUDENTS.
3. Display the number of students in class 10.
4. Display details of the students of Cricket team.
5. Display the Admission number, name, class, section, and roll number of the students whose grade in Sports table is 'A'.
6. Display the name and phone number of the students of class 12 who play the some game.
7.  Display the number of students with each coach.
8. Display the names and phone numbers of the students whose grade is 'A' and whose coach is Narendra.
9. Predict the the output of each of the following SQL statements, and then verify the output by actually entering these statements:
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i. SELECT class, sec, count(*) FROM students GROUP BY class, sec;

ii. SELECT Game, COUNT(*) FROM Sports GROUP BY Game;

iii. SELECT game, name, address FROM students, Sports

WHERE students.admno = sports.admno AND grade = 'A';

iv. SELECT Game FROM students, Sports

WHERE students.admno = sports.admno AND Students.AdmNo = 1434;
Q7. 
a. Write two important features of each of the following types of applications?


3
a. e-Governance

b. e-Business

c. e-Learning.
b. What is the impact of ICT on society?
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